Name:

Date:

Thatcher

2

[B

11

12

Across

3. happened beause
traditional skills werent
in demand, reached
3,000000

6. also known as
community charge
8. were heathite
supporters

10. 1986 - London

11. little government
interference

12. led to conservative
victory

13. rejected by
thatcher, it was an
increase in goverment

spending and lower taxes
Down

1. moving away from
old industries

2. it broke tradition in
the north

4. advocated a low
level of spending and a
close control of money
supply in the country

5. reason for
unemployment, high
interest rates and taxes
7. promoted
individualism , cut back
on staff

9. Thatcherites were
also know as...
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